|

U times table ()

Ox4=__ 3xU= /x4 =
Ixd=_ Nxd=_ Nx =
2x4=__ Ox4=_ Iyl =
IxW=_ /x4=_ 2x4-=
Ux4=_ 10x4=__ 8xY-=
Sx4=_ Ixd=_ Uxb-=
obx4=__ UxUd=_ obx4=__
/x4=__ bx4=_ Oxu4=__
8x4=__ 12x4=__ 12x4=_
9x4=__ 2x4=__ Qx4=_
100x4=__ 8xU4=_ Ixd=_
Nx4=_ Qx4=__ Sx4=_
12x4=_ S5xU4=_ 100x4=__
__ xu-=8 _ x4-=24 xU4=U8
_ xu4-=20 ___xu-=uo x U =44y
_xu=24 __ x4-=8 xU4 =40
_ xu-=u _ x4=36 xU =36
___xu-=uo0 ___xu4-=0 xU =16
_ xu4-=36 x4 =16 x4 =20
__ x4-=0 _ x4-=uy xU =12
_ xu-=32 _ x4=12 xU =28
_ xu-=28 _ xu4-=32 xU4=8
__xu-=us8 _ x4-=28 _ xu-=24
_xu-=uy _ x4-=4y _ xu-=32
x4 =16 _xu-=us ____xu-=0
xU =12 _ x4=20 _ xu-=y
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4 times table (a)
OxU= o 3xU= 12 /xb4= 29
Ixd= o4 Nxb= uy NMxU= yy
2x4= @ Ox4= o 3xU=_ 42
3xt= 12 7x4= 28 2x4=_ g
UxU= jo 0x4= o 8x4= 22
5xU= 20 IxUbs 1y UxU= 1o
bxld= 2u UxY= 1o bxU= 24
7x4= 28 bxU= 2 Ox4= g
8xU= 32 12xt4= ug 12x4= ug
AxU= 2¢ 2x4= @ Ax4= 3¢
10x4= 4o 8xU= 37 IxU= oy
MxU= bty Ixb= 36 5x4= 20
2x4= 48 Sx4= 20 0x4= 4o
2 xU-=8 6 xU4=24 12 x4-=4u8
g x4=20 10 x4=40 L x4=uy
e x4=24 2 x4-8 10 x4=40
L x4=y q  x4-36 g x4-=36
lo x4=40 0 _x4=0 4 x4-=16
_q x4=36 _ 4 x4=16 8 x4-=20
o0 _x4=0 QL x4=dy 2 xU4=12
@ x4=32 3 xU4=12 9 x4=28
7 x4-28 @ x4=32 2 xu4-8
2 x4=us 9 x4-28 6 x4=24
O x4 =uy 1 xU-=y g x4=32
_ K xu-=l6 122 x4=u8 _ o0 x4=0
2 xU4=12 5 x4=20 L x4=4




